Plan No.

DECEO®[®® @

REAR WHEELS MOTOR SYSTEM 6KM/h FOREST 1/2

EO00501/J
Scale: 16 Drafted Verified Confirmed 3
EOC00501/J o 17/02/82008 15/0;4201 5 15/07T/§o1 5




Material

Material
No. Plan Article Number
1 2990480 2
2 XP00396 2990760 2
| 3 1910945 (R) 1
| 4 1910944 (L) 1
5 YP01748 1877954 1
6 YPO1747 1878054 1
7 YP02105 1875904 2
8 XP00419 18760 2
9 ®3x16 DIN1475 1992040 2
10 M8x20 DIN7991 1994677 8
11 M10 DIN985 1001683 2
12 M8x16 1991858 2
13 M8 DIN934 1001671 2
14 M6x20 DIN912/8.8 | 1001493 18
15 YP0O1767 1880054 2
16 M8x70 1996723 2
17 M12 2990453 2
18 YPO1766 1880154 2
19 YP02541 1880200 1
20 YP02962 2802900 1
21 X000203 G000791 4
20 M12 DIN125 B 1001561 2
23 M12 DIN985 1001684 2
o4 XP01127 2990164 4
25 M6 DIN125A 1000973 12
o6 M6 DIN985 1001680 14
27 M8 DIN985 1001682 2
28 X003698 1004550 2
29 M6x25 1006998 2
30 M6x20 1006999 4

No. Plan Article Number
31 XP00517 2990575 1
32 1006112 4
33 M5 DIN125 1000972 8
34 YP02049 1891154 2
35 M6x75 DIN912/8.8 1993413 6
36 2990569 2
37 YP02054 1891854 2
38 XP00516 2990574 1
39 ®4x14 1001584 8
40 1003277 2
41 M6x35 1006057 2
42 M6x12 DIN914/45H 2990322 2
43 M5 DIN985 1001679 4
44 X005083 1908680 2

Plan No.
REAR WHEELS MOTOR SYSTEM 6KM/h FOREST 1/2
E000501/J
Scale 16 Drafted Verified Confirmed \\\V/’/'
Date 17/09/2008 | 15/07/2015 | 15/07/2015 umm
Init. AS TT TK (e]e])




